
## Item # Correct Answer
Primary
SE

Secondary
SE

Obj/Cat

1 M021082536D A 2.1(C) None None

2 M02017197CS 60 2.1(B) None None

3 M02016996CS

The number six is in the ones place in each number. The
number in the tens place increases. One ten in the number
16, two tens in the number 26, and three tens in the number
36.

2.5(B) None None

4 M02016997CS
The next number shaded will be 30. Answers to the question
about how the hundred chart aided in determining the answer
will vary.

2.5(A) None None

5 M02016998CS B 2.1(B) None None

6 M02016999CS 700 + 40 + 6 = 746 2.1(B) None None

7 M021082526D C 2.1(B) None None

8 M021082534D C 2.1(C) None None

9 M021082540D B 2.1(C) None None

10 M021082538D A 2.1(C) None None

11 M02017214CS A 2.1(B) None None

12 M02017212CS B 2.1(B) None None

13 M021082506D 2 rods and 7 ones 2.1(A) 2.12(D) None
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